EARAZROREIERT — 2 N—XBISY —F 2016528170 (k) 11[EARIE3H

m"fﬁ%Sﬁ M 66 ALE115RKE ‘(ﬂi} s ‘Béiﬂélasﬁ] - | & (® 12000 &
[x&<£] 1% :1,200,000 @ ~ 23%&:360,000  ~ 337%&:216,000 @ ~ 4 3&:144,000  ~ 5 7 :120,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. MEEs- 15, -0 . — RAATE (A0HE)
1 6| Fa1TntvE 3 L 1(1_5)9 222 |38.5 1 (4_511) s e
R:772)17 B:T7-RI+v—7 JAa=-Y—=Ty—L
233 :16. == = EHEE (fafE)
2 4| TUFEZ it 3 e 1(146)8 1-1-1 | 39.4 3 (4:1; ESL
L:F1—TANA BT TrT+—Fz H—L—- T vIN> . T7—LBRS
HEXH : —4— — IHEREA (fAHE)
3 3| Fr—nh7z i 3 =5 1.(117>.o 3-4-4 | 39.4 4 (4_4752 e
RNAT——L B:Yav/5T)— jiAritae]
R SR s 3 | AIRiE 1:17.0 5-5-5 [39.3| — 7| 450 |fEEEEEZ (ARAE)
4l8l10] 7V FIMK 54.0 NF) (o) |HLE— -
L:AUF Y72 B:TUCELT BEKT 7 —L
N R 5 7. -3 . — FEMRSETE (RAE)
N ECE TR = IR S Rl S mmEE
LI Biaaxs -0 Il F*
=== HTHE & : -6 — HARSE (M15)
6155/ NITXI>T>3T R 1'3,8'4 M ? (4+111) B &
L2911 T hF—F7—K—K B:5TRIv b E2ibe)
S g 4t 3 | MEHHEX 1:18.5 7-8-8 | 40.4| — 6 441 | RATE (fafE)
7189 | Ab—3I—-F2FT1 56.0 (3/4) Lo | ERER
Y h—> BRAP—3I-34—X BE
— s INZ] : -10- — EKEHHRE (B
gl1]1|TIT /N> RS 1.(128).9 10-10-10 | 40.6 8 (5_332) Zons
R:T7INTI5T B:N—=TzIbMTI— FyEF T — L
N — MEHEK :18. -9~ . - shARZT A (1105
gl7lg | T—n7roy s it 3 o 1/1\3? 8-9-9 |40.6 9 :1_421) ares
ZxvanNa - BFR)TLER HET7— L
# 3 | BEA 1:18.9 6-7-7 | 40.9| — 10 | 482 |#EBEEEA (fafH)
EH ) Rbgxr—1— 56.0 (74%) -6) AEREF
2N F2—-)b BEIXTAFv+—31 NIVEL N T7—L
® 1—F—@EBIERL
13—7-—
20—F— 4,6,3,7,10,2,9,8,5,1
Ja=5= 4,6,7,3,10,5,2,9,8,1
43—+ — 4,6,7,3,10,5,2,9,8,1
[ /N
B 6 240M 714K 4-6 220M B 4-6 660 JEE 3-4-6 970M
B B 6 130H4 3-6 270 e B 6-4 1,150 JEE 6-4-3 3,630
4 180H4 3-4 540M B E 4-6 610M
8 190M B H 6-4 1,050M

ABICOVWTRDTEEERROODE. TR LIV,



